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Tén: Ngay thang: Piém:
Tx+ x>+ 97 + 4(x2 — 4x3) 8x — 6 — 3(5x2 — 9x2) ~ 7
A(8x+ Tx) — 20" + 6x° —x° X+ 4+ 3207 - 3x%) - 3x
2+ 2% = Tx— 8> +x° 3+ 6+ T — 4 — 27
3x— x>+ 8x— 2(3)(2 + 8x3) 3(x3 — 2x2) +x+ 8% +3x°
2(2x2+ 9x3)+7x—2xz+5x 2(7x3 — 8x3)+x+ 2x + 5x
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Don gian hoa da thiic

Tén:

Tx+ 2+ 9 + 407 — 4x)
—16x° + 14x° + Tx

4(8x+ Tx) — 2%+ 6x° — x°
Sx° — 2¢ + 60x

2+ 20 — Tx— 8¢ +x°

—5%° — 5x

3x— x>+ 8x — 2(3x% + 8x°)
17 — 62 + 11x

2020 + 9x3)+7x— 2% + 5x
18x° + 222 + 12x

Ngay thang: Diém:

8x — 62 — 3(5x% — %) — Ix°
—7x + 6% + 8x

X+ 4x% + 320 — 3x%) - 3x
¥+ ¥ —3x

30 + 6 + Tx — dx° — 2x?
50 — 27 + Tx

3(x3 — 2x2)+x+ 8x% + 3x?
3+ 5¢ +x

2(7x° — 8x%) + x+ 2x + 5x
2 + 8
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